Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-VI « EXAMINATION — SUMMER -+ 2014

Subject Code: 361919 Date: 02-06-2014
Subject Name: Power Plant Engineering
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Derive expression for efficiency of Rankine cycle with P-V and T-S diagram.
(b) Explain working of Benson boiler with neat sketch.

Q.2 (a) Explainreheat Rankine cycle with schematic, T-S and H-S diagram.
(b) What are the unique features of high pressure boiler?
OR
(b) Steam power plant working on Rankine cycle operates at boiler pressure of 35
bar and 350° c. and a condenser pressure of 0.1 bar. Calculate (1) Rankine
cycle efficiency. (2) Turbine work produced. (3) Specific steam consumption.

Q.3 (a) Explain with neat sketch nozzle control governing method of steam turbine.
(b)  With neat sketch explain working principle of surface condenser.
OR
Q.3 (&) Explainwith neat sketch forced draft cooling tower.
(b) Classify control system used in steam power plant.

Q.4 (&) Explaincooling water system of diesel power plant with neat sketch.
(b) Derive equation for air standard efficiency of Bray ton /Joule cycle.
OR
Q.4 (a) Compare gas turbine with diesel engine as prime mover.
(b) Differentiate between central and captive power plant.

Q.5 (a) Explainnuclear fission and fusion reaction.
(b) Classify hydro power plant.
OR
Q.5 (&) With neat sketch explain basic elements of nuclear reactor.
(b) List various methods of tariff and explain Doherty rate tariff (three part)
method.
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